
ProVolver Setup 
Page 1 | 7 

 
 

PROVOLVER HAPTIC PISTOL 
 
 
 

Hello, fellow gamer! 
 

If you are reading this, it means that you got your 
hand on a ProVolver. You will increase your 

immersion while playing. We will help you set it up! 
 

The ProVolver allows you to feel the handgun in 
your games. You can use it with one hand or with 

two hands with the front extension. 
 

We invite you to join our Discord community for 
any questions or directly contact us through our 

support service on our website. 
 
 

 
Setting up your ProVolver should take 10 to 20 

minutes. 
 

Pour l'installation de la vidéo, 
tu peux consulter nos playlists sur YouTube. 

 
First, make sure you work in a clear area and be 

very careful. Some parts can get lost easily. 
 
 

PAGE 2 

Bonjour, camarade joueur ! 
 

Si tu lis ceci, c'est que tu as mis la main sur un 
Provolver. Tu vas accroître ton immersion. Et nous 

allons t’aider à le configurer. 
 

Le Provolver te permet de ressentir le pistolet de 
tes jeux. Tu peux l’utiliser à une main ou à deux 

mains avec l’extension frontale. 
 

Nous t’invitons à rejoindre notre communauté 
Discord pour toute question ou à nous contacter 

directement via notre service d'assistance sur 
notre site web. 

 

  
L'installation de ton Provolver devrait prendre 10 à 

20 minutes. 
 

Pour l'installation de la vidéo, 
tu peux consulter nos playlists sur YouTube. 

 
Tout d'abord, assure toi de travailler dans une zone 

dégagée et sois très prudent. Certaines pièces 
peuvent se perdre facilement. 

 
PAGE 5 

 
 
 

 
 

Feel the game 
 
 
 
 

https://discord.com/invite/kAsGHs2
https://protubevr.com/en/content/6-customer-support-hub
https://www.protubevr.com/
https://www.youtube.com/channel/UCnrBJ8KQE3-JQrwVBib7J-w
https://discord.com/invite/kAsGHs2
https://protubevr.com/fr/content/6-hub-du-support-client
https://www.protubevr.com/fr
https://www.youtube.com/channel/UCnrBJ8KQE3-JQrwVBib7J-w


ProVolver Setup 
Page 2 | 7 

 

ENGLISH VERSION 
PARTS LIST 
 

CONTENT OF THE BOX        

 
 

 

x1 x1  

ProVolver Module 
ProVolver Main 

cup 
 

 

IF YOU CHOSE THE FRONT HAND EXTENSION 

 
 

 
x1 x2 x1 

Front magnetic 
bracket 

M4x12 screw MagCup 

 
 

BAG N°4 

 

  

x1 x1 
Hex Key 0,4cm Hex Key 0,25cm 

 
 
 
 

 
 
  

Power button Charging slot 

Rear cup 

ProVolver Module 

Front MagCup 

Front magnetic 
support 



ProVolver Setup 
Page 3 | 7 

STEP 1: SLOT THE CONTROLLER INTO THE MAIN CUP 
 

  
Slide the controller into the Cup 

if you took for right handed, put the right controller in 
if you took for left handed, put the left one in 

You need to press the trigger* in order to introduce and 
remove the controller in the cup. 

*For all controllers except Valve knuckles. 

 

STEP 2: ATTACH THE MAIN CUP TO THE PROVOLVER 
 

  
Make sure the clamps are loosen (see picture above) 

Place once side of the female rail on the male rail. 
Then clip the other side of the female rail (it can be a 
little tricky at first since the piece is not shaped yet). 

  

         

 

Clip the first clamp. 
Do not hesitate to use the allen key provided to loosen the screw and adjust the tightness. 

Do the same on the other side to lock the module. 
 

 

Congratulations! Your ProVolver is now 
ready to use. 

If you use your Provolver single handed, you can refer to the Haptic documentation to connect it to your wireless 
Headset or PC. 

 
If you took the front magnetic bracket in option to use the ProVolver as a two handed 

Weapon, keep following this tutorial. 

  

https://www.protubevr.com/fr/index.php?controller=attachment&id_attachment=36


ProVolver Setup 
Page 4 | 7 

STEP 3 : ATTACH MAGNETIC BRACKET AND MAGCUP (FRONT HAND) 
 
 

 
 
 

 

For this last step you will need the front magnetic 
bracket and both M4x12 screws*. 
*The screws are either on the magnet or in the N°4 bag. 

   

 
 

You can place the bracket either on position 1 (higher) or 
position 2 (lower) as shown above depending on your 

appreciation. 

Screw it in place. 

  

 
 

Put the front MagCup on the Magnetic support. Loosen the screw using the bigger Allen key to adjust it. 
  

Slot the controller in the MagCup. 
Adjust your front hand ingame and tighten the srew back. 

 
 

Congratulations! Your ProVolver is now ready to be paired. 
 

You can now follow the Haptic documentation to connect it to your gear and enjoy the recoil in your favorite shooters!  

Position 1 

Position 2 

https://www.protubevr.com/fr/index.php?controller=attachment&id_attachment=36


ProVolver Setup 
Page 5 | 7 

VERSION FRANÇAISE 
LISTE DES PIÈCES 
 

CONTENU DE LA BOITE 

 
 

x1 x1 

ProVolver Module 
ProVolver Main 

cup 

 

SI VOUS AVEZ CHOISI L’OPTION « EXTENSION FRONTALE » 

  
 

x1 x2 x1 
Front magnetic 

bracket 
M4x12 screw MagCup 

 
 

SACHET N°4 

 

  

x1 x1 
Hex Key 0,4cm Hex Key 0,25cm 

 
 
 

 
 
  

Bouton 
d’alimentation 

Prise de 
recharge 

Coupelle 
arrière 

ProVolver Module 

MagCup 
frontale 

Support 
magnétique 
frontal 



ProVolver Setup 
Page 6 | 7 

ÉTAPE 1: INSÉREZ LA MANETTE DANS LA COUPELLE PRINCIPALE 
 

  
Faites glisser la manette dans la coupelle 

Si vous êtes droitier, insérez la manette droite. 
Si vous êtes gaucher, mettez la gauche. 

Vous devez appuyer sur la gâchette* afin d'introduire et 
de retirer la manette de la coupelle. 

*Pour tous les manettes sauf les Valve knuckles. 

 

ÉTAPE 2: ATTACHEZ LA COUPELLE AU PROVOLVER  
 

  
Assurez-vous que les pinces sont desserrées (voir 

l'image ci-dessus). 
Placez un côté du rail femelle sur le rail mâle. 

Clipsez ensuite l'autre côté du rail femelle (cela peut 
être un peu délicat au début puisque la pièce n'est pas 

encore formée). 
  

         

 

Clipsez la première prince. 
N'hésitez pas à utiliser la clé allen fournie pour desserrer la vis et ajuster le serrage. 

Faites de même de l'autre côté pour verrouiller le module. 
 

 

Bravo ! Votre Provolver est prêt à 
l’usage. 

Vous pouvez à present le configurer en vous réferrant à la documentation haptique pour le connecter à votre PC ou 
votre casque VR.  

 
Si vous avez pris l’option “Extension Frontale” pour utilizer le ProVolver à deux mains, continuez ces instructions de 

montage. 

https://www.protubevr.com/fr/index.php?controller=attachment&id_attachment=36


ProVolver Setup 
Page 7 | 7 

ÉTAPE 3 : ATTACHEZ L’EXTENSION FRONTALE (MAIN AVANT) 
 
 

 
 

 

Pour cette dernière étape, vous aurez besoin du support 
magnétique avant et des deux vis M4x12*. 
*Les vis se trouvent soit sur l'aimant soit dans le sac N°4. 

   

 
 

Vous pouvez placer le support soit sur la position 1 (plus 
haute), soit sur la position 2 (plus basse) comme indiqué 

ci-dessus, selon votre préférence. 

Vissez-le en place. 

  

 
 

Posez la MagCup avant sur le support magnétique. Desserrez la vis à l'aide de la clé Allen pour l'ajuster. 
  

Insérez la manette dans la MagCup. 
Ajustez votre main avant dans le jeu et resserrez la vis. 

 
Bravo ! Votre ProVolver est maintenant prêt à être pairé. 

 
Vous pouvez à present le configurer en vous réferrant à la documentation haptique pour le connecter à votre PC ou 

votre casque VR.  
 

Position 1 

Position 2 

https://www.protubevr.com/fr/index.php?controller=attachment&id_attachment=36

